Criecio)| 20/09/2006
AN Rev.02

ITEM|QTY [PART NO. |DESCRIPTION NOM
1 1 | 18092-xx | 1600 BV AND DLFC, SPECIFY SIZE |1600 BV ET DLFC, SPECIFIER LA TAILLE
2 | 2 10329 |3/8" NUT ECROU 3/8"
3 12 10330 |SLEEVE (3/8" TUBE) OLIVE
4 |2 10332 |3/8" INSERT INSERT 3/8"
5 | 1 [16508-01 |TUBE,BRINE,1600,PP BLACK TUBE BV 1600 (PP NOIR)

1600 BRINE VALVE SYSTEM STD & HW ASSY 2850 (Specify gpm size)

26909

Chap.03



	Feuille1
	Vue de mise en plan1


